Week 8

Question 1. (Fall '11 Q2)
Let G be a nontrivial group and p a prime. If every subgroup H # G has index divisible by p, prove the
center of GG is divisible by p. Note, I think the question wants to say for all nontrivial H # G.

C we Jake Me qw.ﬁ\m oy rlakd anl agum
‘(Y"?.‘)‘ i Awibl lﬂj P /‘/iem C = P-@M_p
an/( Yl'n) ‘ibﬁhw‘- s hivdl, fo ajfume if

meant ab nonMvial propu /Jajvan have  mdx

diviyi hle »D /9

N01~, /f 6— Vlu/f ) Pogwwp [cﬁwwlw cﬂm),
Sthw l(f'z(c')( ) olldl“)]\( LI) r/ )4\() \Wﬂlll
GE) oy not Mudl ade M achon of
GAG gin 199 CW)\AT!!\h. Sme 2(¢)
heer G unke thy ahe we geb = ol dghwe
AChw C’/}(Cf) NG g 6’/%[6 ) 4
P,7vaj mw/ i /e/ Xy, Xa he a (’uup‘:l«
gt s} HPF"W)ﬂJHJ of orbb M/L nw}'YM\l
O\I\o\h. W 0}4 ”\ai
16 )= | )]+ 2 0

ark 55 by wib-rhabaliy, |06<)) are dissidl b,
0. > |9 ze wd p



P> / |2(€)] =0 mdf

Question 2. (Spring 07 G2)
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Question 3. (Fall '17 Q1)
Let G be a finite group, p a prime number and S a l w p-sub g up of G. Let N = {g € G | /S; =9}
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Question 4. (Spring '13, Q1)
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